N = 0l & AF & F Al A

SH SESAEE
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o9l 244 B3 84 (e @
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
S AEH 843,297 1,075,379 N 232,082

=2 3,879
& 105,000
= 734,418
=5+ 083 =4 2 N (SRS AL/ - s 742,383 972,575 A230,192
= 3,879
= 105,000
== 633,504
2 25 24 392,344 614,415 222,071
= 105,000
& 287,344
S EFHP 145,980 144,980 1,000
101 el 24H| 79,460 73,280 6,180
04 JIZtHIZ22XNsEE > 79,460 73,280 6,180
OXEHOIR 61,420
O ZtAM| 3,840
OYHEHZUUEEZ) 14,200
201 Yereo| 15,320 16,700 A1,380
01 AFSR2eltl 5,000 5,200 A 200
A 2 SR 450
OAMNRESE FeHl 750
OE XXt 3,000
OZ&H| & Xt 800
02 32494l 10,320 11,500 A 1,180
O Al & &Hl =Xl 4,410
Od = Hl 1,500
OXt &= Xl 4,410
202 04| 8,500 4,000 4,500
01 =LHoiH| 8,500 4,000 4,500
OAMNE=E 2L LR 8,500
204 X @282 4,200 0 4,200
03 E8YRAHHI 4,200 0 4,200
otolesy| 50,000& x7H «12& 4,200
207 A FoHE| 25,500 38,000 A 12,500
03 A& A FH| 25,500 38,000 A 12,500
OodlRA HY WM (2S) 5,000
oHlZ2, =2, sXM(105) 7,500
OniE£(28) 11,000
OAlS L E=XIIF(4T) 2,000
310 =201 13,000 13,000 0
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SH-EH . O3 - MBAY - BAS 0l aF ol Soe HRZ2
01 =2AZA0IA 13,000 13,000 0
OsH il NMUEE L SAMAY 13,000
SgsgaP 36,364 39,435 A 3,071
101 1A H| 13,764 13,860 N96
04 JIZHMZ2ZANSE S 13,764 13,860 N96
(@FEpSgelE 13,764
201 Et24d| 5,000 6,850 A 1,850
01 AP 2elbl 2,400 2,600 A 200
O A & AME22H| 300
OAMNREESE FLHI 300
OE Xl & XH(50a) 1,500
OFHIYR 300
02 s=529H| 2,600 4,250 A 1,650
OA & &EHl KX b 1,600
OXtE =X 2el 1,000
202 4l 2,500 3,000 A500
01 2WAH 2,500 3,000 A500
OMZEX U 2ol 2,500
207 A FoHE| 2,500 3,125 AN625
03 A& ™I 2,500 3,125 N625
oHlz, s, sXM(45) 1,200
OnUIEE(5,000%) 1,300
310 =2201A 12,600 12,600 0
01 =2AZA0IA 12,600 12,600 0
Os= Xl A5 AtY 12,600
NI P BE A (R D-S4%) 210,000 430,000 220,000
2 105,000
== 105,000
401 AlEHILL20H] 90,000 380,000 A 290,000
& 45,000
= 45,000
01 Al&H| 89,000 378,000 A 289,000
SNHEFA &X 59,000
= 29,500
= 29,500
OAHXE B &X 30,000
= 15,000
== 15,000
03 AlE=20HbI 1,000 2,000 A 1,000
OAIE=20dl 1,000
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= 500
405 KHAFSHI 120,000 50,000 70,000
= 60,000
== 60,000
01 MY = EF SHI 120,000 50,000 70,000
oy E9H, 5D S 120,000
= 60,000
== 60,000
S MY JHA 59,320 63,979 4,659
=S MEAFR 59,320 63,979 A4, 659
101 1A H| 45,288 40,128 5,160
04 JIZtM22XNHsE2 45,288 40,128 5,160
OXx OIS 45,288
201 B3| 2,072 3,066 A994
02 s32ZH| 2,072 3,066 N 994
OA & &EHI KX b 672
OXHR X 22| 800
O EH| 600
202 (4 i 2,000 2,000 0
01 2| 2,000 2,000 0
OMY=E L HRHEI 2,000
207 A FoHe| 9,960 18,785 N8,825
03 Al el 9,960 18,785 ~8,825
OHIZ, =%, S (105) 5,000
o=Hg sH7Y 4,960
S SAHAA 260,419 264,181 N3,762
= 3,879
== 256,540
S CHHY S A 256,540 260,278 N3,738
101 ol 24H| 19,980 15,048 4,932
04 JIZHMZ2Z NS 19,980 15,048 4,932
OXHOF 19,980
201 Yer2o| 5,418 6,958 A1,540
01 AP Zelbl 1,500 1,500 0
OANRESE bl 1,000
O Xb& A Xt 500
02 ss2494l 3,918 5,458 A 1,540
O A& & -l KX I 1,500
OXtER X2l 1,668
OdA = Hl 750
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SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
202 044l 4,672 3,672 1,000
01 2Wobl 4,672 3,672 1,000
OAME=E 2L LR 4,672
207 A FoHed| 226,470 234,600 A8,130
03 A& 32HI 226,470 234,600 A8,130
B2 S0 23 209,800
OB KA (6,000 A) 6,000
OXZEHIE(28) 6,000
O =5 (4,500%) 1,170
oHlZ2, =2, sXM(105) 3,500
242 FAJ/_S MA(=1D) 3,879 3,903 A24
= 3,879
101 21| 3,220 2,970 250
= 3,220
04 JIZHHMZ2ZANSE s 3,220 2,970 250
(OEpSgelE 3,220
= 3,220
206 M = H| 659 933 N274
= 659
01 &4l 659 933 N274
OHIZ 2 SX(45) 409
2 409
O =S (2,000&) 250
= 250
HAL Z2g22 30,300 30,000 300
HAAIE S2g2tel 30,300 30,000 300
201 Et24| 30,300 30,000 300
02 s394l 30,300 30,000 300
O03322 2 HA 18,000
O A& Z&HI KX 4,000
OS2 2,300
O =l 6,000
HESAAH| (S=4AIEZE)(DIEHDIE 100,914 102,804 A 1,890
ol 2HH| 76,126 82,698 NB,572
SF& oA X&A 39,540 48,860 N9,320
101 1A H| 24,840 24,840 0
01 B 24,840 24,840 0
(@FSELE=FNE:] 130,000 *x8H *12& 12,480
OnsEE x| 12,360
(@)% BN 9,480
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SN (B) - MBEAY - B2 0f Ao Soe HRZ2
-2 140,000& x1H 12 1,680
- A 130,000& x5H = 12& 7,800
OJlsH 2,880
-8~10=2 120,000 *2H *12& 2,880
204 X FSHAHY| 14,700 20,700 6,000
02 Mz 2 X 14,700 14,700 0
OHA R 12,300
Ood 7z 250,000& x1H*12& 3,000
OAHTFAL 155,000& x5H = 12& 9,300
OPIFEES 2,400
OLf=; 105,000& x 1« 12& 1,260
o102 95,000& x1H = 12& 1,140
S5 AIE@HTZ 36,586 33,838 2,748
101 o1 21H| 36,586 33,838 2,748
03 RIHL=2=2XE+ 36,586 33,838 2,748
OH=:-2& 36,586
OPIE==; 37,000 x2H x249 18,426
OHaHZ2 37,000& x2H *21 *43] 6,216
Oszsdsd 37,000& x2H «52 3,848
O xRSHII< 37,000& »2H « 16 1,184
OAZIIZ22Y 6,938 x2H x5A| 2+x 122 833
OYZE=SIty| 300, 000& x2H *23| 1,200
OzA| 100,000& x2H = 12& 2,400
Ogdaseg2U4UEER) 2,479,000 2,479
Jl23Hl 24,788 20,106 4,682
=N2E J=FY 18,838 14,206 4,682
201 LEt2AH| 7,678 7,678 0
01 AP 22l 7,178 7,178 0
OBANSY AIR22teld] 7,178
02 s394l 500 500 0
0352l 500
202 04| 5,440 6,528 A 1,088
01 2| 5,440 6,528 A 1,088
ORNMESYE =LA b 5,440
203 PR =&l 3,320 0 3,320
02 HJAIMNMH =AY 320 0 320
OXRIIN= 40,0003 x8H 320
04 2EASIEYRF=EH| 3,000 0 3,000
© 1521 0| &t 250,000& x12& 3,000
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